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Area and Perimeter

Name

0 The shape is drawn on a centimetre square grid.

Rese
Maths

What is the area of the shape?

| mark

What is the perimeter of the shape?

cm

| mark
e Sally YS» ) The two rectangles have the same area, |
1<)

2 cm

so they must have the same perimeter. )

3 cm

9em
Explain why Sally is wrong. 6 cm

| mark

e Estimate, in squares, the area of the shape.

squares

2 marks
° .
2cm
cm
7 cm
cm
Il em
Complete the missing lengths. T—
Work out the perimeter of the shape.
cm —
9 The perimeter of the shape is 60 m.
I3 m
15 m 15 m
Find the length of the missing side.
m
2 marks




